= % a+b 9 gl bE shue?

1
® 2x+1)x2=ax+b @ —5(—12x—6):ax+b
1 1
® (6x+6)x§=ax+b @(—x—i—?))fﬁsz—l—a

® (4x+1)x2=bx—-a

~&B

Da=4,b=2 > a+b=6
@a=4,b=2 - a+b=26
®a=b=3 - at+b=6

@Da=6,b=-2 - a+b=14
®a=-2,b=8 - a+b=6
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©a+a+a—|—a @ a+4 @4Xd

@ ot ® axaxaxa

B

Qa+a+a+a=4a
a
+4=-
@ a 1
® 4xa=4a

®axaxaxa=a*
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@® 2x3x? =5x? @ 16y + (—4) = 12y?
1
® 20y + 5 = 10y @ (10x-15)+5=5x-10

@—12(% $1)=-2y-12

B

@D 2 x 3x? = 622
1
@ 16y? + (-4) = 16y? x <_Z) = —4y?
1
@20y+§:20y><2:40y
1
@ (10x-15) +5 = 5(10x—15) =2x-3

® -12 (%H) — 2y 12
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© 2ax(-4) @ 16x+ (-2) © gax <_%)
D3-(2) ool

® 2a x (—4) = —8a

@ 16x =+ (-2) = —8x

©) gax (—%) = —8a

o3+ (-3) - (H)-»
5 8




6. (3x—6)+(—§>:ax+b?%ﬂ1,a+b9]%k—8—?

@ 0 @ 2 On @ 6

~&B

(3x—6) + (—%) = (3x—6) x (—%) =—4x+8

SLoa=-4b=38
La+b=(-4)+8=4




